©

() In case of depreciation of pound. the
company doesn’t need to do anything as
it stands to gain. In case of appreciation
of pound it should hedge its payments
as the company will be exposed to
exchange rate risk. .

Your company has to make a US$ 2 million
payment in three months time. The dollars
are available now. You decide to invest them
for three months and you are. given the
following information : .

. The US deposit rate is 8% per annum

g The sterling deposit rate is 10% per
annum

. The spot exchange rate is $1.8 /pound

« " The three month forward rate is $1.78/
pound

(i) Where should your company invest for
better returns?

(i) Assuming that the interest rates and
the spot' exchange rate remain as
above, what forward rate would yield
an equilibrium situation?

(iii) Assuming that the US interest rate and
the spot and forward rates remain as
stated above, where would you invest if
the sterling deposit rate were 14% per
annum?
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FOREX MANAGEMENT AND CURRENCY
DERIVATIVES

(2012-13 Batch onwards)
Time : Three hours Maximum : 100 marks
PART A — (5 X 6 = 30 marks)

Answer any FIVE questions.

1.  Explain spot and forward markets in detail.
2. Discuss the determinants of foreign exchange rate.
3. Discuss the various techniques wused for

management of translation and economic exposure.
4. Explain the different types of options in detail.
5. What does the term foreign exchange rate, mean?
Briefly discuss the factors affecting the foreign

exchange rate.

6. How to cancel a forward contract?
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